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7075 L61-1(85RR%E)

trkm (Tsuru, Kame, Atama, Ashi) : -
Atama = Tsuru + Kame,
Ashi=2+Tsuru + 4:Kame.

? —trkm (tsuru, kame, 4, 10).

-

tsuru=3
kame =1

7035 L61-2 (NO2D23N)

sur(H, A, S) :- AsH=2+5.
right(A.B,C) :-A2+B"2 =C &
tri(A,B,C.S) :-C=CA+(CB,

right(CA, H, A), right(CB.H.B), sur(H, C, S).

CA CB
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S=/(r(r-a) (r=b) (r-c)) #=#ur=(a+b+c)/

tri(a, b, c, s).
-
s"2=(—c"4+ —1-a"4+2«(2-b"2-a"2)+
—1-b™4+2+(2:c"2+a"2)+2+(2c"2+b")) /16

tri(3, 4,5, S).
-}
S 2=36

70795 LHI-3(KERHE)

ex(F, Constraint, Vars) :-
lag(Constraint, Lag), difs(Vars, F, Lag).

lag([1,0) : -1
lag([L=R|Cs], Mult+(L-R)+Lag) :-L=R,| lag(Cs, Lag).
difs([l, , ):-L

difs(lVar|Varsl,F,Lag) :-dif(F, Var)=dif(Lag, Var), ), difs(Vars,F, Lag).




sA?+(1/2+r)*=1=0 (=)

sB*+(1/2-r)*=1=0(=¢)

Fe=A ¢ +12¢

Fsa=211 thsnt 205

Fee=M vsatlodss  EEL, F=(1/2+r)%:sA+(1/2—r)*sB

ex((1/2+r)"2+sA+(1/2-r)"2+sB,
[sA“2+(1/2+r)"2=1,sB "2+(1/2=r)"2=1],
[sA.sB.r]).
-
Time Used: 91080 msec = 91.080 sec
18:r°7=(29/12)r"5 + (=17/48)+r"3 + (5/576) r




T=IX#DE=HDY A7 L (Boole CAL)

18

Y
v,
Y

cross(X,Y,A,B) :-
I3=X&Y, 14="XVI3, 15="YVI3,
IB="14V 13, 19="15V I3,
A=14&I111, 111=18VI19, B=I15&I11.

cross(x, v, a,b).
Time Used : 930msec =.930sec

Xx=Db
y=a
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